o
[N

...........

<3 @> (rad)
<)
o [
)

...................

...........

(k=]

-1 0 1

2 3

TP n (PCA to beamline)

< d cot(B) >

........................

........................

NFETErE EPEPEET B
SRS SR 11 RN N (|| S

3 -2 -1 0 1 2 3

—=— DQM_TT _original
—e— DQM_TT__mod_modelsdeep_truthfinal_reg_modelTEST-24
—— DQM_TT__mod_modelsdeep_cumulativetest

0 1

2 3

TP n (PCA to beamline)

< > (Y
o p,/p, > (%)
O = N W N O

L 18

-1 0 1

2 3

TP n (PCA- to beamline)

...........................

..........................

N

3 2 -1 0 1 2773
TP n (PCA to beamline)



	Contents
	Page 1


